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1) 6 feet into inches 2) 14 feet into yards
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3) 7000 yards into miles 4) 3.4 miles into feet
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5) 200 inches into yards feet, and inches

6) 16 ft into metres
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8) 60cm into inches
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9) 400 inches into metre
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11) 5 square yards into square feet 12) 1000 000 sq yar s 1nto square miles

13) 800 square feet into quare metres 14) 2 fom? into square yards %‘m
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Find the area of each.
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Find the surface area of each figure. Round your answers to the negrest hundredth, if

necessary. ‘\
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24) Fabric costs $2.89 per foot. Determine the cost of 6 yards of fabyic.
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25) Drainage piping costs $0 69 p foot. Dete t for 8 metres.
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26) Jimmy needs to put base boards up around his room. The room is 12' x 10". The door is 3' wide.
a. Determine the amount of base is needed.
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b. The base board costs $2.89 per foot. Determine the cost.

27) Jimmy needs to put base boards up around his room. The room is 14'8" x 11'5. The door is 3'
wide.

a. Determine the amount of base board, g feet and inches, that is neede
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Find the missing measurement. Find the radius for the circle with the given area.
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